x107°

< d cot(B) >
o
[
[6)]

$
o
LI L L L L L §

S
£

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT_time_newbranch

—— DQM_TT_newbranch_time_pLess

20

<0 0y, > (M)
(@]

I TR PSPV DUUIE DUOIE T IS S DU DUUIE DUUIE P )
LM T |0 e L2l AR -F- - F == oF L FRA - FH- R

oo i L - A
0.6f-1- 1F-HE A F-FH- P AL - F b4 - Fer -1 =B R - Jﬂl i i i ] ]

3 -2 -1 0 1 2 3 8321 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p. > (%)

R R
TP n (PCA to beamline)



	Contents
	Page 1


